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Master of Arts 2nd Semester Examination

1047
ECONOMICS

Quantitative Methods-II
Paper : MAECO-203

(In All Medium)

Time ; 3 Hours] [Max. Marks ; 80

Note :- Question No. 1 is compulsory. Attempt any ten
short answer type questions. Each question is of 2
marks. Attempt one question each from the remaining
four units. Simple, non-scientific and non-
programmable calculator is allowed.

1. Attempt any ten of the following in about 25-30
words each :

(i) Distinguish between definite and indefinite
integral.

(ii) Define consumer's surplus in terms of integral
calculus.
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(iii) Define differential equations.

(iv) Explain exact differential equations.

(v) What do you mean by the order of a diffrence

equation ?

(vi) What is linear programming problem ?

(vii) Explain primal-dual relationship,

(viii) Define Binomial distribution.

(ix) Distinguish between parameters and estimates.

' (x) What is the utility of standard error ?

(xi) What do you mean by Confidence Interval ?

(xii) Distinguish between null and alternative

hypothesis.

(xiii) What is ^-distribution ?

(xiv) A coin was tossed 400 times and the head

turned up 216 times. Test the hypothesis that

the win is unbiased,

(xv) What do you understand by analysis of

variance ? 10x2=20
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- dx
x + 5x + 6

(iu) The marginal cost and marginal revenue of a

firm are given as MC = 4 + 0.08 x and

MR =12. Compute the total profit, given that

TC at output zero is zero. 5+5+5

3. (i) Solve the differential equation :

^=ex-y+x2e-y
dx

(ii) If the cost (c) is related to the number of items

(x) by the differential equation :

dx

find c as a function of jc given that c - 0 when

x = 0. 7,8

N-180 (3) TumOver



Unit-II

4. (i) Solve the following difference equation :

yx~2yx-\yx-2=1-
y0 = 2, yl = 5.5

(ii) The demand and supply functions for the

Cobweb model are given below :

Qd = 60 - 4P{

Qs = -20 + 2Pt _ j

What is intertemporal equilibrium price and time

path Pt ? Also discuss the nature of time path. 7,8

5. Solve the following LPP by Simplex method :

Maximise Z = 80 x + 100 y

subject to constraints :

x + 2y < 720

5x + 4y < 1800

3* + y < 900
.

x, y > 0 15
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Unit-III

6. (i) Discuss the salient features of normal distribution,

(ii) Eight coins are thrown simultaneously. Find the

probability of getting at least six heads. 8,7

7. (i) Explain the properties of a Ideal estimator.

(ii) In a certain factory turning out blades, there is

a small chance of 1/500 for any blade to be

defective. The blades are supplied in a packets

of 10. Use Poisson distribution to calculate the

approximate number of packets containing no

defective, one defective, two defective blades in

a consignment of 10,000 packets

(Given <f°'02 = 0.9802) 7,8
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Unit-IV

8. (i) Intelligence test on two groups of boys and

girls gave the following results :

Girls

Boys

Mean

75

70

S.D.

15

20

Number

150

200

Is there a significant difference in the mean

scores obtained by boys and girls ?

(ii) The first of two samples consists of 23 pairs

and gives a correlation coefficient of 0.5 while

the second of 28 pairs has a correlation of 0.8.

Are these values significantly different ?

9. (i) Explain the technique of analysis of variance

for two way classifications.
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(ii) From the data given below about the treatment

of 250 patients suffering from a disease, state

whether the new treatment is superior to the

conventional treatment.

Treatment

New

Conventional

Total

Number of Patients

Favourable

140

60

200

Not

Favourable

30

20

50

Total

170

80

250

(Given : 5% value of Chi-square for one degree

of freedom = 3.84) 8,7
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(xiv)

tl

(xv) "5RRW

2. (i)

(ii)

400

SIN

3 V2JC

216

? 10x2=20

x + 5x + 6

(iii) "0^ "̂  ^t 4lHld dljld cT l̂T •Hi Hid STFW

MC = 4 + 0.08 Jt ^Tm MR = 12 ^t ̂  tl

t fe TC •qr ^5=q 3̂ 332, -?jfq I,

3. (i)

5+5+5

(ii)

dx

(c) (jc)

ul — = 1(1 + x-c)

c, JC

c = 0 ̂ fo jc = 0
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4. (i)

yQ = 2,yl = 5.5

(ii) chfack Hlfed ^t TJFT cf«-IT ""̂  ""WFT

Qd = 60 - 4P;

- -20 + 2P

7,8

5. PiHPdRsId LPP " t̂ >H<dd^ M^T "$ ^el chlPjUJ.—

STft^KFT chlPim.- Z = 80 A: + 100 y

^ % %—

x + 2y < 720

5x + 4y < 1800

3x + y < 900

x, y > 0 15
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6. (i) -HHM

(ii) 3TT3

7. (i)

(ii)

8. (i)

1/500 ^f^T^TT %l 10

f I ̂  ̂  10,000

(f^TT

l fcid<ul ^ TPTt7! 'gRI

e-°-02 = 0.9802)

PlHRriHsId

75

70

15

20

150

200

% 1

(ii) TfSW ^ -^jjff ^, f^n^ 23 ̂ tt t,

ifoF 0.5 %, ^^fe fgdl^ if 28 "%t t

ii* 0.8 11
•> '
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(3) 'fe'cT M'dld dl£<V

MC = 4 + 0.08 x UT >7ft MR = 12
for TC FTF §"

F!" diert1 oTi" I

3. (l)

(2)

zre

dx
2 -ve y

(c)

dx

for c,j

4. (1) feT% fe^"

(2)

- 2

5+5+5

7,8

= 2, y = 5.5
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5. f?f% fotf LLP § H375 ^3T 31 ZR5 oft" -

»ffaoTHH ora- Z = 80 x + 100 j

H^H t fe - * + 2y < 720

5* + 4y < 1800
3;c + y < 900

^ y^ 0PS oc el -HI

6. (1) HH1?̂

(2)

of

7. (1) »1'tld>H
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